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PART I: OVERVIEW 

���+�� GAT / O-NET 0�1�2�
���3ก4
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Part II: Grammar 

 

 

 

 

 

 

 

 

 

  ������ก���9����+�� Error Identification �:; Cloze Test ���0�  Grammar 
 

 1. ���
��-./0
�12�
�13�-0�
4
�� ____________________ 
 

 2. 4����067�/�84
�����
��9:�1�-;� 04�  - Error Identification 4�6�ก _____________ 
      - Cloze Test 4�6�ก ____________________ 
 

 3. 
�4����1�3=��->>4
�� ________________________ 
 

 

�����:�3<=ก�9�>?����:��@;  

 

Error 

1. (a) Closer examination of (b) last monthDs report of the first (c) careful tested AIDS vaccine 

suggests that scientists (d) spoke too soon. (GAT March 54) 

2.  (A) Film pictures appear (B) to move on the screen actually (C) are still pictures (D) flashing 

one after another. (ONET 53) 

 1. Error 

 2. Cloze test  

  2.1 Sentence Completion 

  2.2 Paragraph Completion 

  2.3 Cloze Passage 
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A. a. A film picture appearing  b. The film picture which appears 

 c. Film pictures that appear  d. The film pictures appear 

B. a. move on    b. to move in 

 c. moving on    d. moves in 

C. a. still are pictures   b. are pictures still 

 c. pictures are still   d. pictures still are 

D. a. flashed one after another  b. flashed one by one 

 c. flashing from one to one  d. flashing one and the others 
 

 

Cloze Test  
 

Sentence Completion (Grammar) 

Choose the best answer to complete the sentence.  

1.  ___A___ are vegetables, fruit and grain _B_ in organic matter. (ONET 54) 

A. a. That some examples of natural foods 
 b. Some examples of natural foods 
 c. Of some examples are nature foods 

      d. Examples of some nature foods that 

B.  a. where they have grown in soil rich     
     b. when they have grown in rich soil 
     c. which have grown in soil rich. 
     d. that have been grown in rich soil 

 

Paragraph Completion  

Choose the best answer to complete the paragraph.  

1. a. Diamonds are usually clear or pale blue. 

b. The color in diamonds does not necessarily reduce their beauty. 

c. Diamond color is considered when determining their quality and value. 

d. When the amount of color increases, the price of diamonds decreases. 
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2. a. Diamonds are very costly. 

 b. Diamonds are also renowned for their hardness. 

 c. Diamonds must be cut to enhance their brightness. 

d. Most diamonds used as gemstones are basically transparent. 

 Diamonds are precious stones that can be categorized according to their color and 

hardness. ___________(1)___________ .  Many variations of color are also found depending on 

the impurities present. Strongly colored gem diamonds are extremely rare and, valuable. When a 

diamond is set into metal, the metal can affect its color.  ___________(2)____________ . 

Hardness is the measure of a substance's resistance to being scratched, and only a diamond 

can scratch another diamond. Diamonds are the hardest substances known. (GAT July 52) 

 

 

Cloze Passage  

Choose the best answer to complete the passage.  

 Sleep is a normal, easily reversible, recurrent, and spontaneous state of decreased and 

less efficient responsiveness to external stimulation. The state 1._________ that of wakefulness, 

2._______there is an enhanced potential for sensitivity. (��0���+�� CU-AAT) 

1.   a.  aims at      b.  contrasts with  c.  relates to   

 d.  reacts with  e.  compares to 
 

2.   a.  In which      b.  However   c.  Therefore  

 d.  Resulting in  e.  On the other hand 
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 Part III: Conversation 

 

  ������ก���9����+�� Conversation 

  

 `.
�
�1a��6����04�`b
.c8ก 3s Strategy �-
- 

 1. Situation 04�2����d�>�1��ก;4
�3=� ____________________ 

 2. Status 2d��-	�1e�
��4 04�6-�3=��8�กf�.�4�-48>g�h�;4
�3=� __________ 

 3. Speakers 4����`
��3=�e�
��4 �c-�ie�
��4กi:
�
�- 

 :����@� ��@; : 	
�
���>��784��ก7i:067�/`.
��2���`.k�2f�
8k��ก ����-6->�ก����3=�
2d��ก���/�-;� �ก�47i:;.� .�9�`
���4ก8>`
� ����c9�����...04��4�4	�4  

Janet :  I heard you passed the screening test. 
Wichai :  Yes. And IDm invited for an interview next Friday. 
Janet :  _____1_____ (GAT Mar 54)  
1 a. IDll keep my fingers crossed.   b. See you at the interview. 
 c. What are you doing on Friday?  d. DonDt miss it, will you? 

2.   Situation: Lin is talking to Jim about a new restaurant. (ONET 54)  
Lin : I went to a new restaurant yesterday. 
Jim : _A_ 
Lin : Well, _B_ 

A. a. How did you like it? 
   b. When did you go? 
 c. Where is it? 
    d. What does it look like? 

B. a. I found it in the newspaper. 
b. ItDs very easy to find the right way. 
c. the food was good, but the service was slow. 

     d. I like to dine there with my friends on weekends. 
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 Part IV : Reading  

 

 ������ก���9����+�� Reading 
  

 1. ______________________________ 

 2. d
����ก��
�����9p���9:�1�กi:��ก8>�-;�`.
����______________ 

 3. ����7ic-���.�
��c
���>
f�d��	
�7i:��>;4
 7f��b���ip;3��9:��a 

 

�9�[�����\��3�9������  1. ____________________  

    2. ____________________ 

    3. ____________________ 

�9�[�����\��3�ก]��0��9����:�3 4. ____________________  

    5. ____________________ 

    6. ____________________  

    7. ____________________ 

 ��ก6�ก	8p����	
�1�
��c
� �i:���	���-�f���qiก���84�8��c9�ก
�- ����-6-b���`.
 ���

3�-.�84��c� �c-2����d�c9�ก
f���>;4
����1�����f�	rp��-
- 

:�ก
^;��3 choices ���_�  

1. ______________________________ 

2. ______________________________ 

3. ______________________________ 

4. ______________________________ 

5. ______________________________ > ���ก���9�0@� ______________________________ 
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Reading Passage  

 
 Cotton was not the nationDs only agribusiness before the Civil War. The tobacco, rice, 
sugar, livestock, lumbering, and wheat industries accounted for more dollar income than cotton, 
but not one of them alone before 1860, or even 1900, approached the dollar value of cotton. 
Each of these commodities involved hundreds of middlemen for every single producer, creating 
an intricate web of trade and commerce that stretched across North America to Europe. The 
cotton plantation employing slave labor marked only the first stage in the business of producing, 
marketing, and distributing cotton products. (���	
�2�> Smart I) 
1. The agribusiness with the highest dollar value in the United States between 1860 and 1900 

was _____. 

 a.) cotton  b.) tobacco  c.) livestock  d.) wheat 

2. The cotton plantation was involved in which of the following activities? 

 a.) Marketing cotton products   b.) Distributing cotton products 

 c.) Producing cotton products   d.) The enslavement of black workers 

3. The dollar income of cotton exceeded the dollar income of _____. 

 a.) tobacco  b.) sugar  c.) lumbering        d.) all of the above 

4. The commodities mentioned in the paragraph were marketed in _____. 

 a,) Europe and the United States  b.) Europe and Canada 

 c.) Canada and the United States  d.) America, Canada, and Europe 

5. Which of the following statements is true? 

 a.) The dollar value of cotton did not approach the dollar value of sugar. 

 b.) Each agribusiness required middlemen and slaves. 

 c.) U.S. agribusiness prior to 1990 depended on the participation of many individuals. 

 d.) The cotton plantation stopped employing slave labor after 1800. 



 

 

���ก������	
���������
�����
  �.�������  ������ 

9 

 

Part V: Vocabulary 

 

 

   1. Odd One Out (One doesnat belong) 

   2. Meaning Recognition (Polysemy)  

   3. Meaning in Context (Sentence Completion)  

     

Odd One Out (GAT March 54) 

 1. a. chubby   b. overload   c. overweight   d. plump  

 2. a. perceive  b. achieve  c. attain  d. acquire 

 

Polysemy (ONET 54) 

  1. Be careful with that chair. One of its legs is loose. 

a. The trousers are too loose for the boy. 

b. Harry lets the horses loose in the field. 

c. She wore her hair loose around her shoulders. 

d. Make sure that the plug has not come loose. 

2. The baby watched the dog with interest. 

  a. There are many places of interest near the city. 

  b. These investors have a controlling interest in the new company. 

  c. Government efforts to discourage smoking are in the interest of public health. 

 d. She had to pay a lot of interest to the bank where she got the loan. 



 

 

���ก������	
���������
�����
  �.�������  ������ 

10 

 

������������(Bear)  

 

 v���(n) �ก�  (v) ��� �� (v) ������ (v) ��9:�1ก��[�� (v) 	�1w 

 

       ����� interest 

 

   7xก��1��(n) �9�g��+�g?(v) +@0�� ��+��(n) �c- �ก���
�(n) 

 

 ����� loose 

 

  6��4�:0�(adj) ��@��@�(adj.) d�ก�:@�� (v.) ��h���+�;(adj.) ��@����30  (adj.)  

 

Meaning in Context (Sentence Completion)  

1.  The Food and Drug Administration has ___ the budget for the development of a network of 

organizations, which includes healthcare insurers and providers, to ___ the safety of FDA- 

approved drugs. (GAT March 54)  

 a. approved - monitor   b. supplied - introduce  

 c. reduce - ensure   d. curbed z guarantee 
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  MEMOLODY 

 

 

 

   ��:3 ��0� z _�� 

 

;�����`
�6-��1�>>;.�  ;�����`
�6-
�4���1;3�b��;� 

{8��8ก�q�;���i�8�.�8:�;.�  ;����6�3ci:��;3���`
� 

 

* 6-�
��	��4;.� 

Corpulent, Obese  Overweight, Fleshy 

�
�� Plump, Stout  Chubby, Tubby {8�;���
�2�`6 

 

��66-��1��3ก��2��1�� ��66-}~16�ก�
��d
��
f�141�� 

��
`�`6;���
��i
f�d��  �
���i�17f����.8�`6 

 

** 6-e��	��4;.� 

Anorexic, Skinny  Underweight, Bony 

Slender, Scrawny  Skeletal, Slim {8�;���
�2�`6 

 

��
`�`6���{8��8ก�q�  ��
6-�3=��b��;� 

�8ก�8��q�7i:�3=�	
�1`�  ������7i:2x4
��ip (�pf� *, **) 
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  ก:���9�o����  

 

 

ก:������� [n.] 

�� diet, food ��.��ก8�4iก��� nutrient ��� nutrition, board �.��-2�  

nourishment, refreshment, fare ���� ration 2� sustenance `.
4�4i  

 

 

 

 

 

 

 

 

 

 

 

 

 

Note 
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   �q:�:;����  Part II : Grammar (Cloze Test)  

Paragraph Completion  

 ��b��8p��3=�.��7i:�i
��7i:2����d�>�13�-�g7;4
���2i�c-
����	�1 ___ 2i7i:��ก���1ก8��8p� �>���

�ก�4	rp�6�ก2�:17i:�69�3�7i:����`���b� ��b�7i:�i2i�	
��8p�.���ก�c-��
���1 ��9:��~1��b�;�
`�0c.- 0c.-

2����d�3ci:��2i��b�;4
 

 ___ 
����	�1 
9�.����184
����
��7��	�1�8�dx���ก��d�ก	i4	��� �c-��b��7���8p�7i:6-7f�`.


��b�4
��ก8��3=����;4
 d9�;4
�����b��3=�22��7i:�i
����	�17i:2x47i:�����
68กก8� 

 6�ก>7
����
�1a 6-�.��;4
��� ��9:�1�ip��4dr1��b� 04��i`6
������� 2 ��9:�1.c8กa 
9���9:�12i �c-


����	�1	�1��b��8:���1 04�กc���dr1��9:�12i	�1��b�ก��� 

  �3��
�g���� 1 ?;\��3��h���;>������ก���0ก��+���3��1� 

a. ��b�04�78:�;3�8ก6-`2.�9��i2i}���i4 	
��ip;��d�ก�
�1 ����-`.
	
���c7i:ก�
�1�ก��;3�-
- 

b. 2i	�1��b�;��2f�
8k���ก��c4
���1��	�1��b� 	
��ip;��d�ก�
�1��9:�16�ก3�-0�
���a ���iก��>�ก��� 

��b�7i:�i2i�	
�6-.���ก�c-��
���1 �241����
�1�i
���2��1��ก�����b�78:�a ;3 

c. 2i	�1��b�d�ก�f�����6������9:�����>�1
x�g���c-��c
�� 	
��ipd�ก�
�12�4
c
�1ก8>	
�
������a �� 

d. ��9:�
����	
�	�12i��ก	rp� ��
�	�1��b�6-c4c1 	
��ipe�4����a 
�- ��:1��b�2i�	
�ก���:1��1�-
- 

 g���� 2 [��� �0@���h��@�������ก ���?;�� [�3�����3�0����]3��3��1��;�; 

a. ��b��8p��i��c
����ก 	
��ipe�4����-;��;4
�กi:��ก8>��9:�1
����	�1	�1��b��c� 

b. ��b��8p���
68กก8�4i`���9:�1	�1
����	�1 ��>	
��ip
�- �3=�3�-0�
�3�47i:�.��-2�7i:��4dr1��9:�1
����	�1

	�1��b��-
- 
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c. ��b�6-�
�1d�ก�6i��-;���9:����:�
���3�-ก�� `����.�
��ip��4dr1�
���9:�12i�c-
����	�1 ;��;4
��4dr1ก��

�6i��-;��c�
�- 

d. ��b�7i:`b
�3=��
�9:�13�-48>2���`.k��
�1`2 �8��ip;���กi:��	
�1�c-;��;4
��4dr1�c��-
-  

Cloze Passage  

 ก������3=�2g��-3ก�� �
��กc8>;4
����11��� (.c8>/ �9:�;4
����11���a) �ก�4	rp��pf�a �c-�ก�4	rp�

���28kb��k�� 	�1ก��c4c1�c-.����3�-2�7q�g�����ก����>2��1���2�:1��
�g����ก7i:c4c1�c-

.����3�-2�7q�g�� 2g��-�ip ___ ก8>2g��-�9:��8� __ �iก��3�8>3�x13�-2�7q�g��`�ก����>2��1���2�:1

���1a 

	
� 1 ��> b. passage �ip��4dr1ก�����
�-�
�1a กc������ก������8p��3=�2g��-q���b���	�1���1ก��

7i:6-7f�`.
ก����>2��1���2�:1���1ac4c1 ��c�7i:���1��1 �8�6-�r�a �>c�a 6��1;.�
- �c-�6
�2g��-�ip

��1 �8� ��1ก8�	
�� ก8>2g��-�9:��8� 481�8p�	
� 1 6r1��> b. �3c��� vกc8>ก8�ก8>w 
�- 

	
� 2 ��> a. �
�1a c�1281�ก�	
� 2 6-�3=�2���7i:��	��� �f�.�
� Adj. Clause ��9:��q�>��
���.���

	�1 wakefulness .�9�2g��-�9:��8��-
- `�2g��-�9:��8� �r:1���1ก��	�1�����
��7i:6-��>2��1���2�:1

���1a �����2�� 6r1��> in which 7i:�r:1 

 

 


